3/18/2021

National Testing Agency

Question Paper Name : B TECH EA 17th March 2021 Shift 2
Subject Name : B TECH EA
Creation Date : 2021-03-18 10:47:32
Duration : 180
Number of Questions : 90
Total Marks : 300
Display Marks: Yes
B TECH EA
Group Number : 1
Group Id : 86435141
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 300
Is this Group for Examiner? : No

Physics Section A

Section Id : 864351241
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351241
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8643513601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A carrier signal C(t)=25 sin(2.512x10'%) is amplitude modulated by a message signal
m(t) =5 sin (1.57 x 10°) and transmitted through an antenna. What will be the bandwidth
of the modulated signal ?

Options :

86435110801, 20 MHz

86435110802, 8 GHz

e
86435110803, =01 GHz

86435110804, 1987.5 MHz

Question Number : 1 Question Id : 8643513601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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951 AT AT C(t) =25 sin(2.512 x 1010) F G5 €T ALFS m(t) =5 sin (1.57 x 108t) T 72HS
fma Fhe T4 (20T TF ATE AT CHR 1 (T FETS AP Ay FAe 2T 7

Options :
86435110801.

50 MHz

86435110802, 8 GHz

86435110803.

86435110804

Question Number : 2 Question Id : 8643513602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two cells of emf 2E and E with internal resistance r; and r, respectively are connected in
series to an external resistor R (see figure). The value of R, at which the potential difference

across the terminals of the first cell becomes zero is

2.01 GHz

1987.5 MHz

E

Options :

86435110805.

86435110806.

86435110807.

86435110808.

Question Number : 2 Question Id : 8643513602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@51 AZTER R T OIS (AT TH 1, IF 1, FGLAR 743 A<= 31 2E % E T 557 @R
TS T (2R 2R (FAGHE AT N5 Aeaed 0 T WA RI AT LT ¢

E

Options :
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To

b |5

86435110805.

r\.>|:.

f fz
86435110806.

86435110807.

86435110808.

Question Number : 3 Question Id : 8643513603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A sound wave of frequency 245 Hz travels with the speed of 300 ms 1 along the positive
x-axis. Each point of the wave moves to and fro through a total distance of 6 cm. What will
be the mathematical expression of this travelling wave ?

Options :

96435110809, Y(x, )=0.03 [ sin 5.1x— (0.2 x 103t ]

Y(x, )=0.03 [ sin 5.1x— (15 x 103t ]
86435110810,

B - : : 3
86435110811, Y(x, )=0.06 [ sin 5.1x— (1.5 x 10°)t ]

e ; 3
86435110812, Y(x, )=0.06 [ sin 0.8x— (0.5 x10")t ]

Question Number : 3 Question Id : 8643513603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

YT x-S o1 245 Hz P93 G5 #1537 ©4291% 300 ms ~ | Bferq oife 0| TasmsE Afersr
FAZ W 6 cm TIF 41 A F LA o7 FCA| BT TG SIS eprer 1t 5 2°7 2
Options :

e6435110800, Y 0=0.03 [ sin 5.1x (02103t |

Y(x, )=0.03 [ sin 5.1x— (1.5 10%)t |
86435110810.

- B . . e 3
86435110811, Y(x, )=0.06 [ sin 5.1x— (1.5 x 10°)t ]

- =) : = . 3
26435110812, Y(x, y=0.06 [ sin 0.8x — (0.5 < 10"}t ]

Question Number : 4 Question Id : 8643513604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A geostationary satellite is orbiting around an arbitary planet ‘P’ at a height of 1T1R above
the surface of ‘I, R being the radius of P’". The time period of another satellite in hours at a
height of 2R from the surface of ‘P’ is . ‘P’ has the time period of 24 hours.
Options :

86435110813, 2
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86435110814, OV2

86435110815. 3

6
N
86435110816. V<

Question Number : 4 Question Id : 8643513604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e @b1 2% ‘P’ 7 5B [ 11R E%ere, R ‘P 3T TTd, o e B eTa/ g-gfes Thae P A

BfASFa #f4@we SR Wg| ‘P’ T %P9 #[1 2R THOS A4 A 5 Tearzd miae 9% {Z5ere 27
P e 24 T |

Options :

86435110813, 2

86435110814, OV2

86435110815.

I\:ﬂ‘ 0\..

86435110816. ¥

Question Number : 5 Question Id : 8643513605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two identical blocks A and B each of mass m resting on the smooth horizontal floor are
connected by a light spring of natural length L and spring constant K. A third block C of
mass m moving with a speed v along the line joining A and B collides with A. The maximum

compression in the spring is

C A B
| m | —_— m m
Options :
86435110817, ¥ 2K
e
86435110818, 'K

86435110819, V K

86435110820.

Question Number : 5 Question Id : 8643513605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
AP (7T L S eefe 59 K T GOTa #em eefed Ware @2+ fifs @ore @t afertl m ©9d 151 7%y
OTFE AT A TF BT FLTS T 3021 A T B T WA (@UA 1@ ¢ TR 0709 oIS 1 m =11
TOW 31 &% C T A T (IS S39Te FfacR| e TRTe (@Ml TR 0 29 :

C A B
| m | — m m
Options :
| m
oy
86435110817. V2K
m
il
2K
86435110818.

86435110819, ¥ K

86435110820.

Question Number : 6 Question Id : 8643513606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two particles A and B of equal masses are suspended from two massless springs of spring
constants K1 and KZ respectively. If the maximum velocities during oscillations are equal,
the ratio of the amplitude of A and B is
Options :
'Kl
Ky
86435110821.
K
(%
86435110822 V2
'Kz
Ky
86435110823.

ST

IKE

-

86435110824. Y&

Question Number : 6 Question Id : 8643513606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
e &7 aT ST K| O K, T 70T ©a2+ FRieq #@1 7+ ©99 751 1 A ¥ B @aw3 191 (27| A2
CHIET+A TS ACHG (A9 T 20, A F B 7 599 S1e 2'7 ;
Options :
L2 o
K2
86435110821.
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K
86435110822, V12
o
Kl
86435110823.

ST

IKz

-

86435110824 \jl“l

Question Number : 7 Question Id : 8643513607 Question Type
Correct Marks : 4 Wrong Marks : 1

Match List - 1 with List - 11
List - 1

(a) Phase difference between current and voltage

in a purely resistive AC circuit

(b) Phase difference between current and voltage in

a pure inductive AC circuit

(c) Phase difference between current and voltage in

a pure capacitive AC circuit

(d) Phase difference between current and voltage in

an LCR series circuit

: MCQ Option Shuffling : Yes Is Question Mandatory : No

List - 11

(i) g; current leads voltage

(i) =zero

™
(iii) —; current lags voltage

2

L Xe =Xy,
v ani(XeX
(iv) | R ]

Choose the most appropriate answer from the options given below :

Options :
(@)-(1), (b)-(iit), (c)-(iv), (d)-(ii)

86435110825.
26435110826, (@)1, (B)-(iv), (c)-(iii), (d)-(i)

s6435110827. @D (D)), (o-(), (d)r-(v)

36435110828, (@)(iD), (P)-(iii), (c)-(iv), (d)-(i)

Question Number : 7 Question Id : 8643513607 Question Type
Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes Is Question Mandatory : No
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ifers - 1 T s @ifera - 11 S :

wifers! - 1 wifera - 11

(a) @b foF @Es «f4@s a9 ) %:mﬁﬁﬁ@fﬁww@m
SETE WIF Toaq i el

(b) < e wncaR +fFad aEe () *F0
g oF fdoaq v e

() b Ry qa@H ~fad 6re (iii) %;mﬁ@aﬂﬁs\#ﬁm
*@TE SITF faoaa W #irele

(d) BT LCR e a6 oz o (i) mn—l{%]
faeag W “fefay

O RPETYEd 714 WA E TS B 41

Options :

36435110825, (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)
86435110826, @)1 (B)-(iv), (S)-(ii), (d)-(i)
86435110827, @) (D), (c)-(1), (d)-(w)

86435110828, (@) (iD), (b)-(iii), (c)-(iv), (d)-(i)

Question Number : 8 Question Id : 8643513608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What happens to the inductive reactance and the current in a purely inductive circuit if the
frequency is halved ?

Options :

86435110829, nductive reactance will be doubled and current will be halved.

86435110830. Inductive reactance will be halved and current will be doubled.

86435110831 Both, inductive reactance and current will be halved.

86435110832, Both, inducting reactance and current will be doubled.

Question Number : 8 Question Id : 8643513608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

G5! s wasie 9EATS T RS ST R T o (S0% IEAoE SR Aoy e faed &
3'q 7

Options :
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86435110829, N 2 ST Tz 2'q WIF 2 T 2’9

A ST WY 3T S [T 1 271
86435110830.

AR ATy S AaE wARD e 3|
86435110831. 2

R STy S HEE A 189 39|
86435110832. 8|1

Question Number : 9 Question Id : 8643513609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A sphere of mass 2 kg and radius 0.5 m is rolling with an initial speed of 1 ms ~! goes up an
inclined plane which makes an angle of 30° with the horizontal plane, without slipping.

How long will the sphere take to return to the starting point A ?

A 30

Options :

86435110833, 000 S

86435110834, 07 S

86435110835, 002 S

86435110836, 080

Question Number : 9 Question Id : 8643513609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

YSAE T TS 30° TF T AT @4 (A TS, 2 kg TF AF 0.5 m TAPNET @B (TAE
1 ms ! 4T Fea OIS CorhRIE s+@ta Fi+ets amfEats uae FEEl g7 o2 4aes
W A “1ata (e e Ty e 7

A 30°

Options :

86435110833, -00'S

86435110834, 07 S

86435110835, 002 S
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86435110836, 20

Question Number : 10 Question Id : 8643513610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A rubber ball is released from a height of 5 m above the floor. It bounces back repeatedly,

81
always rising to m of the height through which it falls. Find the average speed of the ball.

(Take g =10 ms~2)
Options :
86435110837, 20 ms

1
86435110838, 2-20 ms

1
86435110839, 3-0 ms

1
86435110840, OO0 ms

Question Number : 10 Question Id : 8643513610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

81
Elil

¥ 99 8°[@d 5 m THEE 441 5T 9@ 75 «fF Tt Wﬂ@ﬁ'ﬁﬂ??ﬂﬁﬂ?ﬁﬂ?ﬁmu

TH@E T AF AN TS T | IACHE T WS ol 37T |
( g=10 ms ~2 a7Er)

Options :
86435110837, -0 ms

1
86435110838, 220 ms

1
86435110839, -0 ms

1
86435110840, >-00 ms

Question Number : 11 Question Id : 8643513611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The velocity of a particle is v =1, + gt + Ft>. Its position is x=0 at t=0; then its displacement

after time (t=1) is :

Options :

&'y | & +F

86435110841,
2 a
86435110842, J0 28 13F
F
I’{) | % | ?
86435110843, '
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86435110844, 08 TF

Question Number : 11 Question Id : 8643513611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A FTREC =0, + gt + FZ | TMA T@EA =0T x=0; TSF (t=1) 5T *LS 34 7 7 :
Options :

(e}
=

g
86435110841.

oy 3
86435110842, J0+ 28 +3F

2 T3
|

g
86435110843.

86435110844, 018 TF

Question Number : 12 Question Id : 8643513612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A hairpin like shape as shown in figure is made by bending a long current carrying wire.

What is the magnitude of a magnetic field at point P which lies on the centre of the
semicircle ?

Options :

pol

e
86435110845, <7F

ol
86435110846, =TT

pol
86435110847, =TT

ol

el
86435110848, =TT

Question Number : 12 Question Id : 8643513612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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QT TS A FHAT O T @ I BT ryedr q@wd 5T I WA O WS g 2|
HATEHE e 43 [ P © GifFe cwaq T foam 279 2

Options :

86435110845, 27T

“'_'01(2 b o)
86435110846, 27T

“*_31(2 b o)
86435110847, 47T

ol

sl
86435110848, =T

Question Number : 13 Question Id : 8643513613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The atomic hydrogen emits a line spectrum consisting of various series. Which series of
hydrogen atomic spectra is lying in the visible region ?
Options :

86435110849, | aschen series

86435110850. Balmer series

86435110851, Lyman series

86435110852, Brackett series

Question Number : 13 Question Id : 8643513613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TBW (& AN [T (@58 N @ aef@ fefe T 2w cEe qawWed @l cihe qefE

Options :
TG (A
86435110849. =

86435110850, T CfT

86435110851.

@EG e

86435110852.
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Question Number : 14 Question Id : 8643513614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two identical photocathodes receive the light of frequencies I_fl and ..r'rz respectively. If the
velocities of the photo-electrons coming out are v, and v, respectively, then
Options :

1
2

™ I’zz{ﬁlﬁ .fz]}

m

86435110853,
2 2 2h
h —thp = F[h f21
86435110854
"J] 1
0 tog = [;1{,.(1 | h)}_
86435110855, m

21
of +03 = 1fi +fol
86435110856. el

Question Number : 14 Question Id : 8643513614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TOH AREY G2 F 5 (FACE [, T f, F1F C+12q 22| Az fonle &0 woag-rmma @
@l vy HTF v, 20, (309 .
Options :

: 1
21 z
v — Uy = {—1[.& .fz]}
Tl
86435110853, .
7 s 2h
¥~ =—1f —fl
86435110854. m
"J] 1
™ tvy = [i{,fl | ,_Jrz.]}_
86435110855, m
21
of + 03 = ={fi +fo]
86435110856. Ll

Question Number : 15 Question Id : 8643513615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following will be the output of the given circuit ?

A D’c
L
=

B
Options :

86435110857, AND Gate

86435110858, NAND Gate

12/66
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86435110859, XOR Gate

86435110860, NOR Gate

Question Number : 15 Question Id : 8643513615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fran IEACoE SEHHB T @FEH T 7

A Dc
L
D

B
Options :

AND ¢576
86435110857.

NAND G
86435110858.

XOR 15
86435110859.

NOR ¢
86435110860.

Question Number : 16 Question Id : 8643513616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The four arms of a Wheatstone bridge have resistances as shown in the figure. A galvanometer

of 15 (} resistance is connected across BD. Calculate the current through the galvanometer
when a potential difference of 10 V is maintained across AC.

Options :

86435110861.
2

86435110862.

86435110863.

86435110864, +-87 mA

Question Number : 16 Question Id : 8643513616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

a5 2358 "7 Jiea BiaeB a9 @y BES (vYed1 490e Cz | BD T FANA 15 ) T4 @b s fipra
FeTA FAT (2El @G AC I [AME 10 V T Teawen Iws 91 W, (TS Woad A0S @R

Options :

86435110861.

86435110862.

86435110863.

4.87 mA

86435110864.

Question Number : 17 Question Id : 8643513617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A block of mass 1 kg attached to a spring is made to oscillate with an initial amplitude of
12cm. After 2 minutes the amplitude decreases to 6 cm. Determine the value of the damping
constant for this motion. ( take In 2=10.693 )

Options :

4 1
86435110865, 1167 10% kg s

: 2 1
86435110866, 07 < 10" kg s

i 3 1
86435110867, >/ <107 kg's

2 1
86435110868, > <107 kg s

Question Number : 17 Question Id : 8643513617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

aTE Fensd TS AeEy 1 kg ©99 95 g9 AEfeT W9 12 cm I BT e 4 tarz| 2 fRG
“TES 8 6 cm T 30T #M1 @3 9T A wE 7 BT T4 (In 2 = 0.693 TEE)
Options :

- 1
86435110865, 1167 10° kg s
1 2 1
86435110866, 0-02 <10 kg s
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86435110867.

86435110868.

Question Number : 18 Question Id : 8643513618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

57 %10~ kg g1

3.3x102 kg 51

Correct Marks : 4 Wrong Marks : 1

If one mole of the polyatomic gas is having two vibrational modes and j3 is the ratio of molar

specific heats for polyatomic gas {[:’: =
bY

Options :

”
86435110869. 2

1.2
86435110870.

86435110871. 1.35

86435110872, 1:02

Question Number : 18 Question Id : 8643513618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

IWZ OF TF ARTNR GF FZARTEF (STET Go1 F=41F #21 (mode) TTE TF FZATANEE SIE0oT

A T AT FACHREF T TS B [[& =

Options :

1.25
86435110869.

1.2
86435110870.

86435110871. 1.35

86435110872, 1:02

Question Number : 19 Question Id : 8643513619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

& :
s W then the value of 3 is :
Cy )

Wﬁ, (W PATITTT
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Which one is the correct option for the two different thermodynamic processes ?

«— adiabatic T isothermal

isothermal

(b)

adiabatic

V—

T isothermal isothe rmal

o—

adiabatic
adiabatic

Options :
a) only
86435110873, @) OO

86435110874, (£) and (9)

86435110875, (© and (@)

86435110876, (©) and (d)

Question Number : 19 Question Id : 8643513619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

751 fon ek ofEam A T a @ O w2 7

«— adiabatic f isothermal

—

isothermal

(@) (b) -
adiabatic
v—>
T «— isothermal isothermal
\?
adiabatic
(c) (d)
T—>
Options :
T4 (a)
86435110873.
(b) =¥ (c)
86435110874.
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(c) =¥ (a)
86435110875.

(c) = (d)
86435110876.

Question Number : 20 Question Id : 8643513620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An object is located at 2 km beneath the surface of the water. If the fractional compression

AV T
T is 1.36%, the ratio of hydraulic stress to the corresponding hydraulic strain will be

[ Given : density of water is 1000 kgm ~* and g =9.8 ms 2]
Options :
. 7 2
86435110877, 1:96>107 Nm

]

86435110878, 144> 107 Nm

(]

. (j
86435110879, 2-26>10” Nm

-

Q) 2
86435110880, 1.44x10° Nm

Question Number : 20 Question Id : 8643513620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

._ . : AV g
TP A1 2 km TS BT I8 (AT (AR Aeg SR R - 1.36% =, Tam Afessa e

Pl wa [Agfeq weme 3’ I
[T =nCw : #1eT 99E 1000 kgm 3 ¥ g=9.8 ms 2]

Options :
: 7 2
86435110877, 1.9610” Nm

]

86435110878, 144107 Nm

]

v (j
86435110879, 220107 Nm

”

0 2
86435110880, 144107 Nm
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Mark As Answered Required? : Yes
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Sub-Section Number : 1
Sub-Section Id : 864351242
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643513621 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 2 pF capacitor C, is first charged to a potential difference of 10 V using a battery. Then the

battery is removed and the capacitor is connected to an uncharged capacitor C; of 8 wF. The

charge in Cz on equilibrium condition is __ _ pC. (Round off to the Nearest Integer)
S1 S2
2 uF 8 uF
10v] Te, Tec,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643513621 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

GbT (ICHAT FRTS G5 2 pF T 49F C; T =AW 10 V Noqrent wifee a1 27| SRe=e @ehais!
STEA1% 0O 8 wF T bl SHWA2e 419 C,  CI09 LA T4l 2 3| FAENS C, T S SAfrer
uCl (Fabe #efremts cambaae 3T

S1

. 32

R

2 uF 8 wF

10 V]

[ G G

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643513622 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

18/66



3/18/2021
A boy of mass 4 kg is standing on a piece of wood having mass 5 kg. If the coefficient of
friction between the wood and the floor is (.5, the maximum force that the boy can exert on
the rope so that the piece of wood does not move from its place is N. (Round off

to the Nearest Integer)
[Take g=10 ms 7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643513622 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4 kg ST €61 A5 kg T I FA SO U {2 GBI AMCE F'A AF FHFAE G T
BT 0.5 T, FIHFI A0S 3TQ @9 A1 9176 79(q O AT 7 G RIS 7 “[€7 FHG 95 20
NI (oo sbiemta combea &)

[g=10 ms 2 z&TR]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513623 Question Type : SA

19/66
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Correct Marks : 4 Wrong Marks : 0

The image of an object placed in air formed by a convex refracting surface is at a distance of

rd
10 m behind the surface. The image is real and is at % of the distance of the object from

2
the surface. The wavelength of light inside the surface is 3 times the wavelength in air. The

; X ’
radius of the curved surface is — m . The value of ‘x" is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513623 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

% S TEA P T4 AP AEFCA 10 m [@ES YT 4T aF FweEd dfeld e 2 |

o ‘ 2 el
Wﬂawwvmww;jﬂa 7 Toqe (maq Saestw AgS (NZEd

2 : '
SRR S @1 TP I ﬂ%ml’x’am |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643513624 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field intensity produced by the radiation coming from a 100 W bulb at a distance
of 3 m is E. The electric field intensity produced by the radiation coming from 60 W at the

same distance is

x
— E. Where the value of x=

V5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643513624 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

20/66



3/18/2021

100 W T a9 +[1 =21 R @1 3 m (@9 Seo@ @4 ([Aqers CFad o=@e 28 E | 60 W T I/

W:ﬂ?‘z‘mﬂmﬂmm@wﬂmhﬂwmmiﬂ&m T x I I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643513625 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Seawater at a frequency f=9x 102 Hz, has permittivity E=30£ﬂ and resistivity

p=10.25 {dm. Imagine a parallel plate capacitor is immersed in seawater and is driven by an

alternating voltage source V(t)=V, sin(2wft). Then the conduction current density

1
becomes 10F times the displacement current density after time t = ms. The value of x is

(Given : =9 x10° Nm*C™?)

A £q

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643513625 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

f=9 x10% Hz TR T T[T A4 4TS £ =80, M (AEFS p=0.25 (m | F5 341 & €57
FAARGATE AT 419F HAT #Aleire T3 (71 (27 WF @F #4381 [Fed &7 V(t) =V, sin(2ft) 7@ bifere

' 1 :
T (el (I0E t= %s 2P T i 1157 “fq9ner AT T W Fa (displacement) #<T2 T=rgq 10+

a9 T | x 99 I

1
—1-*7.'1':'0

(F"'RFWCE =9 x 10° NmEC_E)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 26 Question Id : 8643513626 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field in a region is given by E = %Eﬂ,; ! %[.0 )r with Eg = 4.0 x an%. The

flux of this field through a rectangular surface area 0.4 m? parallel to the Y~ Z plane is
Nm?ZC L
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 26 Question Id : 8643513626 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

¥ L .—> 2 M ; A & i <
OF S (AT (wa I T2E E = SEoi %Eﬂ;,w Eg = 40 x 10*‘%1 Y — Z o Srgre

0.4 m? FFT OF TAOFE P AEH @F (T Aoz 3 Nm2C~ 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643513627 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The disc of mass M with uniform surface mass density o is shown in the figure. The centre of

mass of the quarter disc (the shaded area) is at the position where

’

i
ol

S
|

W=

x is - (Round off to the Nearest Integer)

[a is an area as shown in the figure ]

Y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 27 Question Id : 8643513627 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

i . : 3
AT P TIE ¢ q OO S M T @4+ 46 5aw (7Ysal (Il ( | T A 9F

XAl ax da
gl B
\3 7 3 7)

SO (BT #[T W) SAFES WCE | TS x A | (Fbe seieria cabaae o)
[a @b et fEpca fomre orysa tarm |

Y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643513628 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A body of mass 1 kg rests on a horizontal floor with which it has a coefficient of static

friction —. It is desired to make the body move by applying the minimum possible force

3

F N. The value of F will be . (Round off to the Nearest Integer)

[ Take g=10 ms 2]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643513628 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

23/66



3/18/2021
Q¥ STSRF TS 1 kg T <5 T A TS A AF T SIS TEHA BT T BN
1
3
) (Fehem o FWeAmCE Chaad F4T )

[ §=10 ms 2 (&)

| S FEErR 96 F N 40sl $4 @ sife a9 #[1 a1q 9 o a1 (a7 F 9 99 29

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513629 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle of mass m moves in a circular orbit in a central potential field U(r) = U,r?. If

Caa
Bohr's quantization conditions are applied, radii of possible orbitals r, vary with n«, where

o 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513629 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T (F5 59 @ U(r) = Uyr! © m S99 451 $912 JIq 20 5116 SR | AWE 94 (@B

9 o4 3 1
5 TCAS I 3T, FEES FHWE A 1, ne T OTS A 2, T o W I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643513630 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Suppose you have taken a dilute solution of oleic acid in such a way that its concentration

becomes 0.01 ecm? of oleic acid per cm? of the solubion. Then you make a thin film of this

solution (monomolecular thickness) of area 4 cm? by considering 100 spherical drops of

W=

3 Y 4
radius (—W x107* cm. Then the thickness of oleic acid layer will be xx10~ 14 m.
/

\4[}7

Where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643513630 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T e o' 3 (O e O el AT 33 7 &9 cm® B 0.01 cm’
4f3 Ta W' FET fTE O9F oTEE BF T G @ e e Ty A4f% om® 0.01 cm?

1
2 < I
o' @#ET «fbT Z | TS 9% T (HW 107 oo AT 100 BT CSTRPIA (3o 271 4 cm?

\ 40 /

FT G4 *Tea T (93 WefEas Ipem) IEn e o ERS «ftta s TR @Y 39
xx10 M m 1 TSx TIH I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351243
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351243
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643513631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Amongst the following, the linear species is :
Options :

86435110891, 3

NO
86435110892.

O;
86435110893. -

CL0O
86435110894. =

Question Number : 31 Question Id : 8643513631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TR fooas, CafS TIAs 24 ¢
Options :

86435110891, V3

86435110892.

O?
86435110893, -

Iy

&
86435110894. =

Question Number : 32 Question Id : 8643513632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

During which of the following processes, does entropy decrease ?
(A) Freezing of water to ice at 0°C

(B) Freezing of water to ice at —10°C

(O Nafg) + 3H,(g) = 2NHy(g)

(D) Adsorption of CO(g) on lead surface.

(E) Dissolution of NaCl in water

Choose the correct answer from the options given below :
Options :
86435110895, *) (B) () and (D) only

86435110896, (&) (€) and (E) only

86435110897, (A) and (E) only

86435110898, (&) and () only

Question Number : 32 Question Id : 8643513632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

26/66



3/18/2021
fersfeee (@ms! e AreaTs, aFa F09 ?
(A) 17 0°C © Twa ZufTs 240
(B) M4 —10°C © I9%La e 2ére
(C) Ny(g) + 3H,(g) — 2NH,(g)

(D) TS #F% CO(g) T HATIETS

(E) M1 NaCl 9 #SigeaaeTe

frsferde Aesm @ wa Teart T e
Options :
86435110895, (A4)- (B), (C) == (D) =

86435110896. (A), (C) == (E) 914
86435110897, (A) =< (E) 14

86435110898, (B) & (C) T4

Question Number : 33 Question Id : 8643513633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
For the coagulation of a negative sol, the species below, that has the highest flocculating
power is :
Options :
86435110899, 527

'
86435110900, V2

PO;
86435110901

SO%
86435110902

Question Number : 33 Question Id : 8643513633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

OB HeTIE ToTq ST AT0E, T WAAEE [Sos I9 SH3ea (@ Sro%d e =, 35 ;
Options :

2+
86435110899, B2

3
86435110900, V2

PO}
86435110901

SO3
86435110902.

Question Number : 34 Question Id : 8643513634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The set of elements that differ in mutual relationship from those of the other sets is :

Options :
86435110903, be = Al

86435110904, B~ St

86435110905, 1—Na

86435110906, -~ M8

Question Number : 34 Question Id : 8643513634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T CofET T a9 o9 (e CErelS e

Options :
86435110903, Be — Al

86435110904, B =St

86435110905, Li—Na

86435110906, -~ M8

Question Number : 35 Question Id : 8643513635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - 1 with List - 11 :

List - 1 List - 11
(a) Haematite ()  ALO;xH,O
(b) Bauxite (ii) Fe,O4
(c) Magnetite (iiiy CuCO5Cu(OH),
(d) Malachite (iv) Fe O,

Choose the correct answer from the options given below :
Options :
86435110907 (@)-(1), (b)-(iit), (c)-(ii), (d)-(iv)

86435110908, (@)(i), (b)-(i), (c)-(iv), (d)-(iii)

86435110909. (@)-(v), (b)-(i), (c)-(ii), (d)-(iii)

s6435110010. @F(E), (B)-(ii), (©)-0), (d)-(iv)

Question Number : 35 Question Id : 8643513635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Tifera - 1 F Siferat - 11 T 0 e &4 :

iferst - 1 ifera - 1
(a) TECAGIREG () ALO,;xH,0
(b) WG (ii) Fe,O4
(c) THSICABIEG (i) CuCO, Cu(OH),
(d) T (iv) FeyO,
e e we Taq afs TEer :
Options :

86435110907, @), )i, (0)-ii), (d)-Giv)
86435110908, @i, (B)-(0), (©)-(iv), (d)-(ii)
86435110900, @), (B)-(0), ()i, ()i
86435110910, @D, (B)-(iid), (9-1), (@)-Giv)

Question Number : 36 Question Id : 8643513636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The functional groups that are responsible for the ion-exchange property of cation and anion

exchange resins, respectively, are :

Options :
SO,H and — NH,
86435110911, - 3
86435110012, Ny and —COOH
NH, and —SO,H
86435110913, 2 )
g6435110914. ~ 20sH and —COOH

Question Number : 36 Question Id : 8643513636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(FOE F G AAFA (@G FR-TENFA (exchange) 45F A TA FRAFALAF 2 A,

HUTET ¢
Options :
S0;H =% — NH,
86435110911. »
86435110912. I, T = OO
NH, ¥ - SO,H
86435110913. Z E
SOH 9 — COOH
86435110914. :

Question Number : 37 Question Id : 8643513637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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One of the by-products formed during the recovery of I\IH3 from Solvay process is :
Options :

86435110915. NEHLC

Ca(OH),
86435110916. 5

86435110017, —212

86435110018, NACOs

Question Number : 37 Question Id : 8643513637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TS #f@Te NH, T 4@ F9e o] «b1 Sof-Beoia 2'a

Options :

86435110915, "4CT

Ca(OH),
86435110916. 7

Ca(Cl,
86435110917. =

NaHCO,
86435110918, :

Question Number : 38 Question Id : 8643513638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The set that represents the pair of neutral oxides of nitrogen is :
Options :

NO and N,O
86435110919. i3

N,O and NO,
86435110920. = =

NO and NO,
86435110921. =

N,O and N,O,
86435110922. = E

Question Number : 38 Question Id : 8643513638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
TEGUETE 2 SHETA (A A I A ¢
Options :

NO =<F N,O
86435110919. i

N,O =% NO,
86435110920, 2 2

NO =% NO,
86435110921, 2
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HIF
86435110922. N,O NyO4

Question Number : 39 Question Id : 8643513639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The common positive oxidation states for an element with atomic number 24, are :
Options :
86435110923, t1to +6

86435110924, 12 to +6

86435110925, 1 and +3to +6

86435110926, T 1 and +3

Question Number : 39 Question Id : 8643513639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AR L= 24 T @51 GHER AU SET S 3A ¢
Options :
86435110923, + 13 “ +6 &

86435110924, T 2 T AT +6

86435110925, + 1 TR +3 T #[@T +6 (A

86435110926, 1 S +3

Question Number : 40 Question Id : 8643513640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :

List - 1 List - 11
(a) [CoMNH3)g] [Cr(CN)g (i Linkage isomerism
(b)  [Co(NH); (NO,)4] (i) Solvate isomerism
(c) [Cr(H,O)4]Cl4 (iii) Co-ordination isomerism
(d) cis—[CrCIz(ox]Z]3 (iv) Optical isomerism

Choose the correct answer from the options given below :
Options :
86435110927. (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

s64351 1005, @), (B)-(0), (-(iii), [@)-(iv)
86435110020, @), (b)-(0), (i), (d)-(iv)

se435110030, @0¥), (BF (i), ©)-(id), (d)-6)

Question Number : 40 Question Id : 8643513640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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SIfeTar - | 7 Sifera - 11 9 OFs [T 47

SiferesT - 1 wifers - 11
(a) [Co(NH,)g [Cr(CN)] (i)  FSTamn FAeEfare

(b)  [Co(NH,), (NO,),] (i) waF qbe TR
(c)  [Cr(Hy0)6)Cly (iii) I AT

(d) cis-[CrClLy(ox),]? (iv) e FECafare
formftae femasr s Taa afe Shear :

Options :

86435110927, @-(0), ®)-(i), (0)-(id), (d)-iv)
56435110925, @), (B)-(), (O)(iii), (d)-(iv)
86435110929, @) (i), (B)-(), (O)-(id), (d)-Giv)

86435110930, @Hv). (B}-(id), (c)-(i), (d)-(i)

Question Number : 41 Question Id : 8643513641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following statement(s) is (are) incorrect reason for eutrophication ?
(A) excess usage of fertilisers

(B) excess usage of detergents

(C) dense plant population in water bodies

(D) lack of nutrients in water bodies that prevent plant growth

Choose the most appropriate answer from the options given below :
Options :
86435110931, (&) only

86435110932, (B) and (D) only

86435110933, (©) only

86435110934, (D) only

Question Number : 41 Question Id : 8643513641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e Faem faarm e @=(Ee) e (Sferaa) enes 2
(A) = e 79T T@za

(B) we womEea I92A

(© nirs S Toef

(D) =nits +f} Fas “wela wro@ Aoy fewa 3% w3

ferfEe Aasaem whiTsts Sore Teq a1y Terned
Options :

86435110931. e
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86435110932, (B) 9= (D) ¥4

86435110933, (©) &

86435110934, (D) &

Question Number : 42 Question Id : 8643513642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Nitrogen can be estimated by Kjeldahl's method for which of the following compound ?

Options :
86435110935. By
86435110936. CH; —NH,

(j

e
86435110937. N

T + -—

86435110938, ~ N=NCI

Question Number : 42 Question Id : 8643513642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

s (FmnT (oM ANA (TETH AT AISGLEd TW SRR 2[R |

Options :

86435110935. N

86435110936. CEg =Nk
/

S
86435110937. N
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86435110938, ~ N=NCI™

Question Number : 43 Question Id : 8643513643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct pair(s) of the ambident nucleophiles is (are) :
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :

86435110939, (A) only

86435110940, (B) only

86435110941, (A) and (C) only

86435110942, (B) and (C) only

Question Number : 43 Question Id : 8643513643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Towg ME@EwLed wE @9 (@[@) T
(A) AgCN/KCN

(B) RCOOAg/RCOOK

(C) AgNO,/KNO,

(D) Agl/KI

Options :

86435110939, (A) T

86435110940, (B) 1<

I
86435110941. (4) (©

86435110942. ) el &

Question Number : 44 Question Id : 8643513644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : 2-methylbutane on oxidation with KMnQO, gives 2-methylbutan-2-ol.
Statement 11 :  n-alkanes can be easily oxidised to corresponding alcohols with KMnO,,
Choose the correct option :

Options :
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86435110943, Both statement 1 and statement Il are correct

86435110944 Both statement I and statement Il are incorrect

86435110945, Statement 1 is correct but statement 1l is incorrect

86435110946, Statement I is incorrect but statement 1l is correct

Question Number : 44 Question Id : 8643513644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Sel:  2-fEE [REG™ KMnO, 3 GIs S¢S ficd 2-forss Resm-2-91'4 |
BfE1l:  n-gEEE KMnO, 3 0e R 374 F20s 209 g Gors 2eita Siae ied #A |
W f[9ow a1 Sfeear :

Options :

86435110043, BT 1 1 TS 11 725" 70y

06435110944, 51 1 7 Bf& 11 FTR1GT woTey

86435110045, 51 1771 g Bf& 11 wpTer

86435110946, 51® 1 TTeT 72 Tfi& 11 7791

Question Number : 45 Question Id : 8643513645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Choose the correct statement regarding the formation of carbocations A and B given.

+
> CHE!. - CHZ - CH2 = CHZ +Br~
!'.I'AJT

CH3—CH,—CH =CH, + HBr

+
» CHy—CH,—CH-CH;+Br™
i Es”
Options :

36435110947, Carbocation A is more stable and formed relatively at slow rate

86435110948, Carbocation B is more stable and formed relatively at slow rate

36435110949, Carbocation A is more stable and formed relatively at faster rate

86435110950. Carbocation B is more stable and formed relatively at faster rate

Question Number : 45 Question Id : 8643513645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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G
> CH3 = CHE_ CH2 _CH2 +Br—
“pn

CH3— CHy—CH = CH, + HBr

+
» CH; —CH; —CH—-CH3+Br™
“gr

Beom (79 I (FOAT A WF B T A w5 OfF afy Shrea
Options :
26435110047 T CFORF A T qF F Porgred T 7q% / AT Teem =

86435110048, T3 CRORHT B AR YFT SF TAAFSIA I 2T /5T TRt 2

86435110949 I I A TR AFT AE FeArena 13 29 /o1fEw Teo =

86435110950, T3 PO B AR JfE aF geEeeId 13 IRE /5o Teow on

Question Number : 46 Question Id : 8643513646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

C1pHpOqy +Hy0 —R&™eA ,  H1»06+CeH106

Sucrose Glucose  Fructose

k- Enzyme B - =

C H,,Op ————— 2C;,H;OH+2C0O,

Glucose

In the above reactions, the enzyme A and enzyme B respectively are :
Options :
86435110951. Invertase and Z}’mase

86435110952, Lymase and Invertase

86435110953, nvertase and Amylase

86435110954 Amylase and Invertase

Question Number : 46 Question Id : 8643513646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

CiH Dy TR o O 0 0
AFE =E gF'w
R e VNRNE s 2 5 0

T

&+qq [AfFIe, GT5ee A U B T0&FE 2 ¢

Options :

Tl Eﬁ:ﬁﬁ HE &l

86435110951, - T SIS

86435110952, T 2HE SIF FTSCGH
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86435110953, ZTOTIC0T HIF G

86435110054, ST2CTE AF TTSAHE

Question Number : 47 Question Id : 8643513647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OCH,

(:7}'7\]20(_' +(.21{ OH ——» + N2+"x"+"Y"
(A)

In the above reaction, the structural formula of (A), “X” and “Y" respectively are :

Options :
N; OCH,

H H
H :0: "H
86435110955. cl

N, OCHj,

W
© CH3—C—-H , H0

86435110956.

86435110957.

YCH
86435110958. OCHS3

Question Number : 47 Question Id : 8643513647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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OCH,

C;H;N,0Cl + C,HsOH ——> + Np+"X" +~Y"
(A)

g*[q RfETs, (A), “X" O “Y” T 551 ALFS TG :

Options :
N; OCH,
H H
' H D ‘H - HCI
86435110955. cl
N, OCHj,
q
, CH3—C-H, H,0
86435110956, Cl
N3 Cl-
li :I—l
OCHj,
86435110957 :
N, Cl-
9
s+ CHy—-C-H , HC
YCH
86435110958, OCHS3

Question Number : 48 Question Id : 8643513648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Primary, secondary and tertiary amines can be separated using :
Options :
86435110959 Chloroform and KOH

86435110960, Benzene sulphonic acid

26435110961 para-Toluene sulphonyl chloride

86435110962, “cetyl amide

Question Number : 48 Question Id : 8643513648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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AT, (RIS T GARAR GTET U FT #1 q9ET 94
Options :
86435110059, & 3 ¥ W¥ KOH

86435110960, (TG ToF o «fE®

86435110961, CT-02 T e FazT

86435110962, IO @TTT

Question Number : 49 Question Id : 8643513649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Match List - I with List - IL
List - 1 List - I1
Chemical Compound Used as
(a) Sucralose (i)  Synthetic detergent
(b) Glyceryl ester of stearic acid (if)  Artificial sweetener
(c) Sodium benzoate (iii) Antiseptic
(d) Bithionol (iv) Food preservative

Choose the correct match :
Options :
86435110963, (@-(1), (b)-(ii), (0)-(iv), (d)-(iii)
86435110964, @)-(i), (b)-(1), (©)-(iv), (d)-(iii)
26435110965, (@)-(1¥), (b)(ii), (c)-(ii), (d)-(i)
26435110966, (@)-(ii), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 49 Question Id : 8643513649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SIfETar - | 7 Sifera - 11 9 Os ST 41

wifer - 1 wifera - 11
S e TS T

(a) T=FEH () T weEE

(b) R afker BafE aB@r () oo

(c) ¥ @'« (i) FremEET

(d) FRigerT= (iv) A TS

w fEn e She

Options :

86435110963, (@), (b)-(ii), ()-(iv), (d)-(iii)

86435110964, @)-(i), (b)-(1), (©)-(iv), (d)-(iii)
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86435110965, (@)-(1¥), (b)-(iii), (c)-(ii), (d)-(i)

86435110966, (@)-(11), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 50 Question Id : 8643513650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fructose is an example of :

Options :

86435110967, “ldohexose

86435110968, etohexose

86435110969, L yranose

86435110970, 1ePtose

Question Number : 50 Question Id : 8643513650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T35 b1 THEA TH :
Options :

86435110967, 971G CZHE
86435110068, TV 2HT

86435110969, 2= &

ki

86435110970.
Chemistry Section B

Section Id : 864351244
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351244
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643513651 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of chlorine atoms in 20 mL of chlorine gas at STP is 10%L. (Round off

to the Nearest Integer).

[Assume chlorine is an ideal gas at STP

R=0.083 L bar mol~! K~ 1, N, =6.023 x 10%]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643513651 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

STPS20mLFe FRm @AM TH 102 (FIboT 94e A4me) |
[« T, STP @, Ffae <1 =mef corg
R=0.083 L bar mol~! K~1, N, =6.023x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513652 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KBr is doped with 10 > mole percent of SrBr,. The number of cationic vacancies in 1 g of
KBr crystal is 10", (Round off to the Nearest Integer).

[Atomic Mass : K :39.1 u, Br: 799 u
N, =6.023 x 1023]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513652 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10~ 3 '3 *1@1e* SrBr, 7@ KBr ¥ T 4 (dope) 341 2| 1 g KBr f[&(8a1e @oml@ T4 #2725
104 (FEbox 94g F41me)|

[*remefa®d ©9: K:391u Br: 799 u

N, =6.023x 1023]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643513653 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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In the ground state of atomic Fe(Z=26), the spin-only magnetic moment is
%101 BM. (Round off to the Nearest Integer).

[Given: 3 =173, /2 = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643513653 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Fe(Z =26) T THEa TAETS, Jaa 5999 @WE x10~1 BM | (Fabew sr4e F2ams) |

[T WME: 3 =173, 2 =1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643513654 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A 1 molal K,Fe(CN), solution has a degree of dissociation of 0.4. Its boiling point is equal to
that of another solution which contains 18.1 weight percent of a non electrolytic solute A.
The molar mass of A is u. (Round off to the Nearest Integer).

[Density of water = 1.0 g cm 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643513654 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@B 1 77 K Fe(CN), #a7 Rrameem T 041 a Toenesd oW @b &4, &ea 18.1 ©F =or b
Sfpefasm ¥ A 92 E, T AAH W] A J THT =9 THA ul (fFebow Trag
AeATE) |

["1'?3 TF = 1.0 g cm 3]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 55 Question Id : 8643513655 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the reaction NoQOy(g) == 2NO(g)- The temperature at which K(_ =204 and

Kp=600.1, is K. (Round off to the Nearest Integer).
[Assume all gases are ideal and R=0.0831 L bar K I mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643513655 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TR 4@ N, O, (g) === 2NO,(g)! TSI, ARG K =204 9 Kp=600.1, 25

K| (FFben s4e Aemme) |

[4f4 TeTar ATATAE otz S @ R=0.0831 L bar K1 mol 1]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643513656 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A K1 solution of conductivity 0.14 S m ! shows a resistance of .19 2 in a conductivity cell.
If the same cell is filled with an HCl solution, the resistance drops to 1.03 {}. The conductivity
of the HCI solution is x10"2S m~ L. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643513656 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

B KCl 52 79 #[@@ze@! 0.14 Sm~ |, @51 *f[Gafze @@e @ rq@e4.19 (| 1% (7% aiF @
HCl Ta7q +[7ara 24, (¢ 1.03 O & % =wez1 HCl §39 «“R{afzer 2’5

x10"28 m~ 1 (FrebeT oYs AeAme) |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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Question Number : 57 Question Id : 8643513657 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction 2A + B; — 2AB is an elementary reaction.

For a certain quantity of reactants, if the volume of the reaction vessel is reduced by a factor
of 3, the rate of the reaction increases by a factor of . (Round off to the Nearest
Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643513657 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

faf@m 2A + B, — 2AB @b1 (s e @bl WiWg wiawem e e, 7 @i sraca s
3 g Fz frn =, Rfom @@ aft g a2’ 1 (Frbew wre WeAme) |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643513658 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

On complete reaction of FeC 13 with oxalic acid in aqueous solution containing KOH, resulted
in the formation of product A. The secondary valency of Fe in the product A is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643513658 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

FeCl, 7 wafe «fe®d KOH @1 #1419 ¥3s fea Sfwe, sreuay A tem@n a9 &rewa A S Fe q
(FEA @ 2T | (FEbeT o4 FeAme) |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643513659 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

The total number of C-C sigma bond /s in mesityl oxide (C H,,0O) is . (Round off
to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643513659 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@B’ NaOH 7 Tt fafeare i caiebizs wmnze (C,H,,0) | 0 C-C Mo am /7ame iehizs
THICE T _ | (Fabe srae A24me) |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513660 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0
| o
C
~l
-+ C5H5NHC6H5 E— Cﬂl IE—C ) [\— ((:61 15)2
0.140 g 0.388 g 0210 g

Consider the above reaction. The percentage vield of amide product is (Round

off to the Nearest Integer).
(Given : Atomic mass : C : 120w, H: 1.0u, N: 14.0 u, O: 16.0 u, Cl : 35.5 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513660 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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1
g
“w]
0140 g 0.388 g 0210 g
SAY PIF [EANGT ST GN2T GIOHIT STFq S 28 | (Frebea =Tee

F2AITS) |

(‘ﬁﬂ'm:m'ﬁﬁiﬁ:C:12.0u,H:1.0u,N:14.011,0:16‘011,(:'[:35.511)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351245
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351245
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643513661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2 "
x°, tor

Q| b
| I——|
Il

. . : sl 1 i
The number of solutions of the equation sin l[xz } ;] F cos 1[}:2

xe[ —1, 1], and [x] denotes the greatest integer less than or equal to x, is :
Options :
86435110981, U

86435110982. z

.

86435110983.

86435110984 Infinite

Question Number : 61 Question Id : 8643513661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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sin~! [xz | %} + cos™} [1‘2 %} = x2, xe[—1, 1] T M FAFIECHE TN 74T 27

TE [x] =x T AW AT x TF F7F 51D LS 74T |
Options :

86435110981, 0

86435110982, 2

e

86435110983.

86435110984.'ui 3

Question Number : 62 Question Id : 8643513662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the Boolean expression (paq)&(p=q) is a tautology, then ® and @ are respectively given by :
Options :

86435110985, ™V

86435110986, V7

86435110987. "

86435110988. "

Question Number : 62 Question Id : 8643513662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

7 (pAq)e(peq) IFW IFTET @bl 4 #iE o1, (TR ¢ TF o THET
Options :

86435110985, ™ ¥

86435110986.

86435110987.

86435110988.

Question Number : 63 Question Id : 8643513663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

— A A ~ — A A A
Let O be the origin. Let OP =xi + yj kand OQ =—i + 2j + 3xk,x,ye R, x>0, be

— : —5 - — i — M A A
such that |PQ| = +20 and the vector QP is perpendicular to OQ. If OR =3i + zj - 7k,

= e
z € R, is coplanar with QP and QQ, then the value of 124 yz Fz2 i equal to :
Options :
86435110989, 1
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2

86435110990.

86435110991,

o

86435110992.

Question Number : 63 Question Id : 8643513663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QEAO ARG 4NZAOP =xi + yj — k T OQ =—i + 2j + 3xk,x,yeR, x>0,
s e T L o gy gt s
PQ| = V20 ™% OP (SFIHI OQ 8O o7 | M OR =3i + zj — 7k, zeR, (SFABI OP
- = 2 2 ¢ '
TF OQ T P GG T, (O0F 2 + 2 + 22 T T+ AL 24
Options :

86435110989.

[g*]

86435110990.

~1

86435110991.

86435110992, 7

Question Number : 64 Question Id : 8643513664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If x, y, z are in arithmetic progression with common difference d, x # 3d, and the determinant

3 442 «x
of the matrix |4 5.2 y | is zero, then the value of kZis :
5 k =z
Options :
86435110993, ©
12
86435110994.
86435110995, ~©
86435110996, /2

Question Number : 64 Question Id : 8643513664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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3 42 x

T x, y, 2 ARG 2SR I AT WG d, x # 3d, F| 4 57 | CNOPHHR To *F7 2, (S0F
5 k z

K2II9359 ;

Options :

86435110993, ©
86435110994, 12

86435110995. -

=]
(g

86435110996.

Question Number : 65 Question Id : 8643513665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2
i tan{w cos™0)
The value of the limit lim Pl (L0050 S

: —5— 18 equal to :
8—=0 sin (27 sin™0)

Options :

1
86435110997, %

1
86435110998, 2
1
86435110999. 4
0
86435111000.

Question Number : 65 Question Id : 8643513665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

]
. tan(w cos~0) :
lim {7"2 ST T W 2T
8—0 sin (2w sin™0@)

Options :

¥ i
86435110997. 4

1
86435110998, 2

e | s

86435110999.

86435111000.
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Question Number : 66 Question Id : 8643513666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

' 1

0sin 27| =

If the integral > dr =ae”'+ Be 2 +vy,whereq, B, yare integers and [x] denotes
0 e

the greatest integer less than or equal to x, then the value of «+  + v is equal to :
Options :

86435111001. 0

86435111002, 10

86435111003, 20

86435111004. 25

Question Number : 66 Question Id : 8643513666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
' 1

10y =
3 sin 27rx
Ity de=rxe Ly Be 24+, TS o, B, v T4 TR SEF [x] =x T TN Al 4, ©F AF

o e* Pl

Y TN I, B@a+P+y T AT ZT ;
Options :

86435111001.

86435111002, 10

86435111003, 20

86435111004 25

Question Number : 67 Question Id : 8643513667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the curve y=y(x) is the solution of the differential equation

2(x” 4 xi’é]dy y(x A ¥)dx= 2" dx, x > 0 which passes through the point

; 4
(L 1 3 loge 2] , then the value of y(16) is equal to :

A

Options :

4(’%1 %Iogﬂfﬂ
86435111005. : 4
'2‘

(2 %Iflgﬁl
86435111006, i

(3

(T | —Iogw_fﬂ

86435111007.
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4 3?1 I g log. 3 W

86435111008.

Question Number : 67 Question Id : 8643513667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Irﬁ?.Z{xz Jiydy — y(x + 2/4) dr = 204 dx , x> () SEFE FAFAE ARG AW y=y(x)

o 4
w‘ﬂ(l,l Ioge W famra A, (=% y(16) T T W 2

Options :
4(’%1 —Iog{,'ﬂ
86435111005, = 4
2 3
(2 %103e3|
86435111006, : 4
(% I —Iog‘,ﬂ
86435111007,
—1(% b — loge 31
86435111008. )

Question Number : 68 Question Id : 8643513668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let y=y(x) be the solution of the differential equation

cosx(3sinx + cosx + 3) dy= (1 + y sinx(3sinx + cosx + 3))dx, 0 =x -5%, y(0)=0. Then, y(%

equal to :
Options :
ZIogF{%ﬁ 8)
86435111009. g =
,[Ogﬂ{ﬁ | ?W
86435111010. .2 )
) 3
2I03F {2"‘5 +9 ‘
i L4 f'] v
86435111011.
2 log [2\5 | 10)
86435111012. ¢ AL

Question Number : 68 Question Id : 8643513668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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441 2 cosx(3sinx +cosx +3) dy=(1 +y sinx(3sinx + cosx + 3))dx, 0 =x = % y(0)=0. SFF=A

FAAEBE LT y=1y(x) | (S0 y(%] T 2T :
2/
Options :

2log, {7%2 8)

86435111009. 4

J3+7

2lo E[
Be 3

86435111010. b

. -

2log, {72“'@ : 91
L
86435111011.

21og, [2\5 | 10)
LS 11 i
86435111012.

Question Number : 69 Question Id : 8643513669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. . 1 w
[[2=sinj=]|| [x[,x =0
Consider the function f: R — R defined by f(x) = 4( eml\ x]; b = # . Then fis:

( 0 , x=0
Options :
86435111013 monotonic on (0, %) only

monotonic on (— =, 0) only
86435111014. g

86435111015, monotonic on (— %, 0) W (0, =)

not monotonic on ( — =, 0) and (0, =)
86435111016.

Question Number : 69 Question Id : 8643513669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

r

' 3
2—sin|=||lxl, x 2 0
{1 57 f: R — R Fo051 A9 q0T f(x) = {[ qm(;—]] gl S f T :
|0 , x=0
Options :
s6435111013, & ©) T T

86435111014, (~ 7 O T T

seassiinors, (~ /0 (O %) © &
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sea3sittore, 0 (0, =) T «FWZ 72|

Question Number : 70 Question Id : 8643513670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The value of
[r] + [2r] + ... + [n1]

lim
Nn—3o 112 &

where r is a non-zero real number and [r] denotes the greatest integer less than or equal tor,
is equal to :

Options :

86435111017,

r

86435111018, 2

86435111019, 2T

86435111020 °

Question Number : 70 Question Id : 8643513670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
' F2r] + ... A

lim 21+ (2] 2 L SEEE T FAT ZT

n—soo n

TE r T ARG AL O [r] =1 T A A r ST F S1H TG TR ECE
Options :
86435111017,

r

86435111018, 2

86435111019, 2T

86435111020. 0

Question Number : 71 Question Id : 8643513671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a computer program generate only the digits 0 and 1 to form a string of binary numbers

1
with probability of occurrence of 0 at even places be 5 and probability of occurrence of 0 at

1
the odd place be ? Then the probability that ‘10" is followed by "01" is equal to :

Options :
i

86435111021, ¢
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o | =

86435111022.

W=

86435111023.

86435111024, 18

Question Number : 71 Question Id : 8643513671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

; : vl
YT TF BT FEATHE AT 0BT WA AR € 0 O 1 Teow I | JAES 0 T FYES 5

. | . .
TN TS () T 5 1 7 forgg ‘10’ T FEIfae A9 29 ;

Options :

i,
86435111021, 9

o =

86435111022.

W=

86435111023.

86435111024, 18

Question Number : 72 Question Id : 8643513672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the sides AB, BC and CA of a triangle ABC have 3, 5 and 6 interior points respectively,
then the total number of triangles that can be constructed using these points as vertices, is

equal to :
Options :

86435111025, 60

86435111026. St

86435111027. 333

"
86435111028. 21l

Question Number : 72 Question Id : 8643513672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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4 2'A ABC fAgabR AB, BC 1% CA T2 BT 3, 5 AT 6 B w9y e rerg «2 R S
7 fEbicatet sioe I~ fargera 724w W 29 ¢
Options :
86435111025 360

86435111026. it

86435111027. 333

86435111028. 21y

Question Number : 73 Question Id : 8643513673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let the tangent to the circle x2+ y?=25 at the point R(3, 4) meet x-axis and y-axis at points P

and Q, respectively. If r is the radius of the circle passing through the origin O and having

centre at the incentre of the triangle OPQ, then 2 is equal to :

Options :
15
86435111029, /2
625
72
86435111030
529
86435111031, °*
585
86435111032, ©°

Question Number : 73 Question Id : 8643513673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

491 ZA x2 + 2 =25 3G9 R(3, 4) Y@ 5 =*RfFwm ST 1o oF y-9%q P wiE Q, fqe fifers
tzrE| AW TAE O (@ @@ JEHE A ¢ T @H OPQ [IgT wRiEEe AF (90 12

T 2T
Options :

15
86435111029, /2

625

72
86435111030

52
86435111031, °*
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585

86435111032, 00

Question Number : 74 Question Id : 8643513674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let Sy, S; and S; be three sets defined as

S, = [zeC: |z-1] =2}

S, = {zeC:Re((1-i)z)=1}

n
wl
|

= {ze C:Im(z) = 1}
Then the set S; M S5, M S,
Options :

86435111033, Das exactly two elements

36435111034, has exactly three elements

86435111035, 1 @ singleton

86435111036. has infinitely many elements

Question Number : 74 Question Id : 8643513674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
44 THS,, S, WF S, Gk Ae=fS affs weg e

1 [zeC:lz l_ﬁ}

S, = {zeC:Re((l-i)z)=1}

92}
Il

5; = {ze C:Im(z) = 1}

[AT6S S1 M S2 M 83 Aol S T
Options :

86435111033, T A

86435111034, I Sl 12

86435111035. 4FF RS

86435111036, PN TEIF T WG

Question Number : 75 Question Id : 8643513675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f: R — R be defined as f(x)=e~“sinx. If F: [0, 1] — R is a differentiable function such

) o - .
that F(x)= | f(t) dt, then the value of jﬂ(F'(x} | f(x})eldx lies in the interval
0

Options :
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330 331}

86435111037. |:360 360

{32? ;;g]
360" 360

[331 334}
360" 360

86435111038.

86435111039
1335 336}

86435111040. [360 360

Question Number : 75 Question Id : 8643513675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4q TF f: R — RITS f(x) =e *sinx. I;F: [0, 1] — R FAH SqF=17 ICS F(x) = ff(t) dt,
]

= E(P‘(x] Ff(x))e" dx SgFEILHE T 2FF SREAREIST 29

Options :

[330 331}

86435111037. 360 360

[32? g;g]
360" 360

[331 3’14}
360 " 360

86435111038.

86435111039.

s e
3607 360

86435111040.

Question Number : 76 Question Id : 8643513676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

6 i
The value of l {6Cr : 6C6 r] is equal to :

r= 0
Options :

86435111041, 924
86435111042, 1024
86435111043, 1 124
86435111044, 1324

Question Number : 76 Question Id : 8643513676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
e, (6 [
2. ( Cr : Cﬁ r)qwfﬁﬂﬂﬁ"q’:
r=0
Options :
86435111041, 924

86435111042, 1024

4
86435111043. 1124

86435111044, 1324

Question Number : 77 Question Id : 8643513677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of plane passing through the mirror image of a point (2, 3, 1) with respect to
x+1 =8 . a%D o ) x=2 1-y z+1
N T 1 and containing the line = = is

line

ox + By +yz=24, then a+  ++y is equal to :
Options :

o]

86435111045, 21

r2
=

86435111046.

9

=

86435111047.

86435111048.

Question Number : 77 Question Id : 8643513677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
x-2 1-y z+1 1 y-3 z+2

» 'xl N o " ~
B @ AFNT R i TTCH! AT W (2, 3, 1) g

a5 mrena 4fefga MowE (A AWEEd FMFAMHT ax + Py +yz =24, TT (W a+ P+
A 5T ;
Options :

86435111045, 21

r2
=

86435111046.

86435111047, 19

86435111048. s

Question Number : 78 Question Id : 8643513678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Two tangents are drawn from a point P to the circle 22 4 y2 2x —4y +4=0, such that the

2 s U
angle between these tangents is tan (F where tan 1(15—2] € (0, 7). If the centre of the
J

circle is denoted by C and these tangents touch the circle at points A and B, then the ratio of

the areas of APAB and ACAB is :
Options :

86435111049, 9+ 4

86435111050, °
86435111051, 2 1
86435111052, 1174

Question Number : 78 Question Id : 8643513678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

x2+y?—2x— dy + 4=03Sq P R #@1 U1 =S Gl 25 AT ~#F [ored W59 (P tan (;W
wm‘l(;—zh(am)aﬂﬁ@@rﬁmmcawmﬂwmﬁmwAwsﬁﬁ
A

=+ Fq (O3 APAB W& ACAB fags 16/ FI@ SIe 39 :
Options :

86435111049, 9 : 4

bt |
86435111050.
86435111051, 2° 1
86435111052, 1%

Question Number : 79 Question Id : 8643513679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The number of solutions of the equation x + 2tanx = % in the interval [0, 27] is :

Options :

86435111053,
86435111054
86435111055, 4

86435111056.
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Question Number : 79 Question Id : 8643513679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
[0, 27] TEAFS x + 2 tanx = ? FAFATHEHE AT 74N 2T

Options :

2

86435111053.
86435111054
86435111055, 4

86435111056.

Question Number : 80 Question Id : 8643513680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let L be a tangent line to the parabola y>=4x — 20 at (6, 2). If L is also a tangent to the ellipse

3 >
) v
'IT | {— =1, then the value of b is equal to :
Fu "
Options :

86435111057 11

86435111058.

86435111059. 16

86435111060. z

Question Number : 80 Question Id : 8643513680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

qq T P =4y 20 WHIEA (6, 2) Rge mpfaieA g L | AW L, HI =1 T

=oxf{F T, (GrF b T I AIH 27 ;
Options :

86435111057, 11

86435111058, 14

86435111059.

)
=

86435111060. z

Mathematics Section B
Section Id : 864351246
Section Number : 6
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351246
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643513681 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e
Let I, = jl x? (loga)™ dx, where n e N. If (20)I;5= alg+ Blg, for natural numbers « and B,

then o — 3 equals to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643513681 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@A = JTxlg (loglx)™ dx, TS ne N1 TW (20)1,,=al,+ Pl T (0T TP FRAN o T

AT o p AN TT |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643513682 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
(2n

71}_— »n e N be the slopes of three line segments OA,
2

Let tana, tanp and tany ; o, B, v =

OB and OC, respectively, where O is origin. If circumcentre of AABC coincides with origin

g L7
. . : 3 A
and its orthocentre lies on y-axis, then the value of {COS 3a + cos 38 + cos 3y

is equal to
COS L CoS 5 Cos vy )

\

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 82 Question Id : 8643513682 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2. — 2 T
¥4 2'F feeE @4re OA, OB 9F OC T #9909 &0 tana, tanp 9= tany ; o, B, v = M
2

n e N T8 O F&ag1 A% AABC T #r® Foiama OIS e I e AWy §-5r [ 4T,

r

32

cos 3o + cos 3p COS3‘\I-‘ 7 T W T - |

|

. Ccos o cos 3 cos vy J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513683 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If 1, log,(4*— 2) and 10310(41' I 15—81 are in arithmetic progression for a real number x, then
: /

the value of the determinant is equal to :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513683 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

' 3
Ffi @B1 AT AL x, T AT, 1, log,(4*—2) W<* [0310(4I | 1—58| AR Aofes A,
)

LY

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513684 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

Consider a set of 3n numbers having variance 4. In this set, the mean of first 2n numbers is
6 and the mean of the remaining n numbers is 3. A new set is constructed by adding 1 into
each of first 2n numbers, and subtracting 1 from each of the remaining n numbers. If the
variance of the new set is k, then 9k is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513684 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An HeATH FE(G @51 fATA6AT T T'F A A7 4| @ FEGLH® ST 2n FLANT THT 6 TF SEME n
FLATFE AL 3 | 2n FEATE 2TSTF S FeATH 791 1 70 T I W@H8 n A2 oo #@r 1 [os
A GB1 7o Ae2fE oo T T Tt T TSGR 4 k T, (T 9k AW T 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513685 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: [~ 1, 1] = R be defined as f(x)=ax” + bx +c for all x ¢[ -1, 1], where a, b, c € R such

1
that f(~1)=2, f'(—1)=1 and for x € (1, 1) the maximum value of f"(x) is 5 If f(x) =«

x € [~ 1, 1], then the least value of « is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513685 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@qEAf:[-1,1] —)[{?L‘-\S’iltxsl_f(x)=a.lebx Fe AR x e[ —1, 1] T 90, T2 a, b, c e R ATS

e y
f(—1)=2 f(-1)=1 wF f"(x) T @I 5 T x e (—1,1) T AT I f(x) = @

xe[-1,1], (TB a T F=H T T4 27 I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643513686 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n
Let the coefficients of third, fourth and fifth terms in the expansion of [1 f W ,x%0, be
J

\

2 | .
ru| =

in the ratio 12 : 8: 3. Then the term independent of x in the expansion, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643513686 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

| a w11

\ x-/

,x 20, AT o7, o WF oF o AT 12: 8 : 3. TPHES TR TS0 TF

fFgae x ATT *Ma FTOHT AT T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643513687 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:[~3,1] = R be given as

irmin {[1‘ I 6],3.'2}, 3=x=0
flx) =1 '

| max {x, 22}, Osx=1.

If the area bounded by y=/(x) and x-axis is A, then the value of 6A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643513687 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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feam f(x) jmin {x+6),2%}, 3=x=0
1@ 24 f:[-3, 1] - R frn sz e J1X) =)
fil | (2 AT | max {Vx, 22}, ety

MW y = flx) S x-SPHT TA AGA THAT FE A T 0908 6A T Tl AW 27 [

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513688 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let P be an arbitrary point having sum of the squares of the distances from the planes
x+y+z=0,lx—nz=0 and x— 2y +z=0, equal to 9. If the locus of the point P is
x2 yz t z2=9, then the value of I —n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513688 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

191 35 P @5 e g a00 x+y+2=0, Ix—nz=0 & x— 2y +2z=0, AL *[1 P g
vAET 33 Q@FA 91 A P g A€@ AL 12+ y2+22=9 2, TS0 [-n I I WA 27
1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643513689 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

— — A OAA —3 A AA
Let x be a vector in the plane containing vectors a=2i—j+k and b=i+2j—k. If the

vector x is perpendicular to |31 2j—k and its projectionon a is , then the value of
2

2

‘x ‘h is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 89 Question Id : 8643513689 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

qq T a=2; ; |j‘ i b=-[". } 2; L (529 EB’ P TS @0l (8FF| AW x TSI AH

o A nl : — S .17\,@ .—PZ

1_3! } 2)1' k] 9 ¢999 o HIF a 9 S99 HW[oUFH X TH, (O(F ‘1‘ q JT+] AL
2

37 |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 90 Question Id : 8643513690 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

' 2 ' <] [0
Let A = r ;] and B = [;} :[[J such that AB=B and a + d = 2021, then the value of ad — bc
C d

is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643513690 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

- e »] [0
W?a?r,-xz[a ;] T B:[Z}M AT AB=B oF a+ d=2021, (908 ad —bc T T 7+
C O

3'q |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100
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